S AEHBAR (2 S EEREMALE —REREARESE LA &

FEl RETEREN &5 mEARE #8:_ HHIS
AR OFRED— A S ZMIEAT LS - FRFNAH 100 )8 - RAEAL2FL2 K

N

3. (20 Marks)

-Calculate the shear force ¥ and bending moment M at a cross section located 0.5 m from the
fixed support of the cantilever beam AB shown in the figure.

4.0 kN 1.5 kN/m
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. 4. (30 Marks)

Determine the maximum tensile stress and maximum compressive stress due to the load P acting
on the simple beam AB.

P=354kN

L=30m

c=12m

b=75mm

b1=25m111

£ =100 mm
f L *

h; =75 mm



